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e Please check that this question paper contains 15 printed pages.

@ Code number given on the right hand side of the question paper should be written on
the title page of the answer-book by the candidate.

@ DPlease check that this question paper contains 30 questions. ‘

@ Please write down the serial number of the question before attempting it.

o 15 minutes time has been allotted to rcad this question paper. The question paper
will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m. the studcnt will read
the question paper only and will not write any answer on the answer script during
this period.
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MATHEMATICS

Time allowed : 3 hours | [ Maximum marks : 80

faerfita gue : 3 992 ] | | | [ ST - 80

General Instructions :
(i) All questions are compulsory.

(i)  The question paper consists of 30 questions divided into four

sections — A, B, C and D. Section A comprises of ten questions of
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:i e\(fi dyl{fzﬂrﬁ each, Section B comprises of five questions of 2 marks each,
. Uyd

A
ection C comprises of ten questions of 3 marks each and Section D
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comprises of five questions of 6 marks each.

(iii)  All questions in Section A are to be answered in one word, one
sentence. or as per the exact requirement of the question.

(iv)  There is no overall choice. However, an internal choice has been

 provided in one question of 2 marks each, three questions of 3 marks
each and two questions of 6 marks each. You have to attempt only
one of the alternative in all such questions.

(v)  In question on construction, the drawings should be neat and exactly
as per the given measurements.

(vi)  Use of calculators is not permitted.

qrarg fdsr :

(i) oWty e &)

(i) 39 IV § 30 ¥ & 5 TR @Vl - 37, &, F 3R T 7 fFwniora &1 @ue o7
Ay e R AT T I ST FHe, @ g ga T i g
TR T F 23FE, G eA T A AT AR T # 3 7F &
TYT @UE T Y QT F¥ & 5718 @ ST J¥H 6 SFH 6 |

(i) @& F T AP Y F IW F Vs, TF 9 JYGT 7 FH
NEAFIHAFAR R qwar &1

(iv) O NT-9F § fawcq 781 81 T2 2 3] a1l Tk WRT 1, 3 HFl Frer AT
1 T T9T 6 371 qTet g1 T T IR faFed fod 79 & 1 07 7 7ol
4 319! Fael UF faFeq gt FAT 2
(5T FTCT 999§ T Wes 797 fad T 919 % STgaR g1 T1eT)

(i) Forpoiedl & yam F1 aigata T8 8
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Question Numbers 1 to 10 carry 1 mark each.

Y EEAT 1 ¥ 10 9 TIF 09 1 SR 12|

1. Has the rational number a terminating or a non-terminating

225772
decimal representation ?

441

F g W mmmmm% YA TGS 7

2. If a, B are the zeroes of a polynomial, such that a + f = 6 and aff = 4, then |
write the polynomial.
e o, B @Tﬁ‘ﬁ'%@w%ﬁ?a+ f=6aqur aﬁ=4%,a‘rata§qa

3. If the sum of first p terms of an AP, is ap?+bp, find its common

difference.

1% T IR A W p TR FT AN ap? 4 p B o Wi g B

4. In Fig. .1, S and T are points on the sides PQ and PR, respectively of
A PQR, such that PT =2 ¢m, TR = 4 cm and ST is parallel to QR. Find the

ratio of the areas of A PST and A PQR.

Fig. 1
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. FREEHRuadif pT = 2 91, TR = 4 Y7 991 ST 3% QR WA £ | A PST a7

A PQR 3 &%l o ITUTd F1d shifeTg |

P

FF 1

5.  InFig. 2, A AHK is similar to A ABC. If AK = 10 cm, BC = 3.5 cm and
HK =7 cm, find AC. |
H

c A/\K
L

B

Fig. 2
FT 2 7, A AHK 9 A ABC 99%T g1 9f AK = 10 91, BC = 3.5 91
agr HK = 7 9t € @t AC 91d hiferg |

H

L

B =
2
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sgi; eridyad%t:bﬂ and % = cot 9, find the value of 3 (xz —-1—2)
FREE Education | *
fe 3x = cosec 6 T % = cot-G%, al 3[3:2 _iz) ﬁﬂﬂm'ﬁﬁt{l
X

7. If P(2, p) is the mid-point of the line segment joining the points A(0, -5}
and B(-2, 1), find the value of p.

TR P2, p), T A6, -5) T B(-2, 11)ﬁﬁaﬁmﬁ%@r@v€muw-
fag ?, 9t p &1 9M 1A Frf |

8. If A(l; 2), B(4, 3) and C(6, 0) are the three vertices of a parallelogram
' ABCD, find the coordinates of the fourth vertex D.
afk A(1, 2), B(4, 3) q9T C(6, 6) ToF 9Tk Ig4S ABCD o <A ¥ &, ot <
fid D % Frdenias qma i

9. The slant height of a frustum of a cone is 4 cm and the perimeters
(circumferences) of its circular ends are 18 cm and 6 cm. Find the curved

surface area of the frustum.

22 |
[Use = 7}

o ¥l o ) o et 4 & oo g e R 3 o (ot
18 Aft 30 6 At € | 3 s 1 5 g A @ i)

[n:%mm'ﬁﬁm]
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Ej\] 1@5031151’%1 drawn at random from a well shuffled pack of 52 playing cards.
FR EERind, thejprobability of getting a red face card.

52 T ! 3T WehR W Tl T uw arer i T’ / TH w1 AgesAr e
STTAT & | ST T7 o T aTet a3 311 ol iehar Ima shifse |

Section B
His d

Question Numbers 11 to 15 carry 2 marks each.

AT 11 15 Th TAF T F 2 ITh & |

11.  If two zeroes of the polynomial x> —4x% =3x+12 are \E and —\6 , then
find its third zero.

afe qgue x° —4x2 -3x+12 ésa‘t:rfqm 3 ad -3 & d e fiew s
T I |

12.  Find the value of & for which the following pair of linear equations have

infinitely many solutions :

2x+3y="7; (k=-Dx+(k+2)y=

k1 =8 | 1 iy femreh fore feaferRad wefiemo gm & sHa e 8
2x+3y =7, (k—Dx+(k+2)y =3k

.13_. In an A.P., the first term 1s 2, the last term 1s 29 and sum of the terms 1s

%55. Find the common difference of the A.P.

s GATR g, oreet qom 12 2 T f v 29 %, % Fa 11 1 I 155%|
AR S T VESTR J14 i
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f4e\lf day alpghsi_ideé of a parallelogram touch a circle, show that thé
FREE‘@EM@ 1s a rhombus.
afe T FHTAL TS o Gl ST o R TR e § A qEisy i 7 gmi
g O qEegd B

15.  Without using trigonometric tables, find the value of the following
EXPression :

sec (90° —8).cosec 8 — tan (90° —8) cot B + cos? 25° + cos? 65° |
' 3tan27°. tan 63°

Or

Find the value of cosec 30°, geometrically.

Bretorfidty arfermett & wam {1, T =i o o Ja il

sec (90° —8).cosec O —tan (90° - ) cot 8 + cos? 25° + cos? 65°
3tan27°. tan 63°

HAAT

cosec 30°meﬁﬁ%mﬁm?ﬁﬁm

Section C
[CLCRr)

Question Numbers 16 to 25 carry 3 marks each.

T EETT 16 Y 25 T TAF T * 3 37 |

16. Prove that 2 - 3\/5 is an irrational number.

fog FifvmtF 2- 375 & smicm e )
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18.

19.

30/1/1

7,. eVl'll }éf}fﬁ?’nerator andldenominator of a fraction is 3 less than twice the
F]ﬁg‘gogn nat If each of the numerator and denominator is decreased by 1,

UCd lOI'l
the fractlon becomes > Find the fraction.
Or

Solve the following pair of equations :

i+3y=8; 9—4}*:—5
X X

A F I AN W H A, W HTH A IFAE AR M AM R T IRH Y |
mmﬁfﬂa%ﬁw%lfwmﬁﬁw

HYAFT
friaftaa aH1eRtoT I a6 B ShitvTe :
4 6
Si3p=g lodp=-5

In an A.P., the sum of first ten terms is ~150 and the sum of its next ten

terms is —-550. FFind the A.P.

TF TR g % YU 6 Tel 1 AT 150 & G 36 TS 6 Tal AT —550
21 9T A g e |

A
In Fig. 3, ABC 1is a right triangle, right
angled at C and D is the mid-point of BC.
Prove that AB? = 4AD? —3AC=.
=
B D C

Fig. 3

Educational Material Downloaded from http://www.evidyarthi.in/
Get CBSE Notes, Video Tutorials, T&t Papers & Sample Papers



& ¥

A

B D C
1A 3
20.  Prove the following :
lia:o?A + 132;:A =1+tan A+ cot A
Or
Prove the following :
) 1
- (coseg A —sin A)(sec A—cos A) = A oA
Tefafaa = fag =hifsu -
tan A tA
l—aclzlotA + lfc‘:anA =]+tan A +cot A
A9
FfoTRad 1 Fiag #iferg
. I
(c?sec A —sin A) (sec A —cos A) = oA oot A
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3t e\({i]éy{gmmangle ABC in which BC = 8 cm, /B = 45° and £C = 30°.
FREE Educatio

22.
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) _ . 3
onstruct ano?her triangle similar to A ABC such that its sides are 7 of the

corresponding sides of A ABC.

T s ABC $1 w1 $ifste it BC = 8 9ft, 4B = 45° 99 £C = 30° €|
A ABC % THEY T 31 FAYS & 1 hifsre ["igeht YT A ABC &1 9

gwaﬁm%ﬁl

Point P divides the line segment joining the points A(2, 1) and

P
B(5, —8) such that A

iR . If P hes on the line 2x — y + £ = 0, find the

(o] e

value of k.

ﬁﬁ?,ﬁﬁaﬁ A(2, 1) T B(S, —8) ! U™ aret T@ravs = 39 YR farfsa
Fend fr L0 =1 | AR P YE2r -y + k= 0 TR R A k1 T
Fifema |

If R(x, y) is a point on the line segment joining the points P(a, &) and

Q(b, a), then prove thatx +y=a + b.

afd R(x, y) T9g3Tt P(a, b) T4 Q(b, o) F T Tt taravs © & & forg
%,?ﬁﬁq@%”\aq'ﬁﬁx+y=a+b_
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.24 I Hig, oundary of shaded region consists of four semicircular arcs,
eVid§arthi

FRtﬁ]g allest being equal. If diameter of the largest i1s 14 cm and that of the

ucation
smallest is 3.5 cm, calculate the area of the shaded region.
' 22
[Use T = T]
Fig. 4.
Or

Find the area of the shaded region in Fig. 5, if AC = 24 cm, BC = 10 cm

and O 1s the centre of the circle.

[Use & = 3.14]

Fig. 5
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C‘f e\@@fﬂ&ﬁh@i@rﬁﬂ g7 B =R erefaedia | &, oo o e ss?aej a1, TER GHH
FREE T FaRiGe! 99 &1 o976 14 Ui a7 998 8191 919 &1 3079 3.5 i & aY
BATfehd & F1 STE J1d I | |

gra——

2

TR 4
AT
AR 5 B, TR T AEwd 9 AR At AC = 24 F9ft, BC = 10 ¥
qT O 9 FH5 |
(7= 3,14 =1 5901 il
A
B / C
TR 5
25.  Cards bearing numbers 1,3, 5, , 35 are kept in a bag. A card is drawn

at random from the bag. Find the probability of getting a card bearing
(1) a prime number less than 15.

(i1)  anumber divisible by 3 and 5.
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:f e\ﬁmﬁﬁhﬁﬁ:m 1,3,5, 35 e sifrd §1 39 3 d 4 w e
' FREEES &G T | TRkt 91a hifsre ok Feprel 1+ W
(1) 159 FHA ITA! TST GEAT SifFa B |
(i) 3.1 5 3 A farfa @ anelt g sifea B

Section D
Qg g

Question Numbers 26 to 30 carry 6 marks each.
T AT 26 ¥ 30 o W% T H 6 3T B |

26.  Threc consecutive positive integers are such that the sum of the square of

the first and the product of the other two is 46, find the integers.
Or
The difference of squares of two numbers is 88. If the larger number is 5

less than twice the smaller number, then find the two numbers.

R HARTA U9 QT 36 TFR % ¢ {5 Tgct 1 o aut 37 gt ) 0T 1 ART 46
&, qurfh 31 Shifsr)

R gt % i # o 88 B AR A v SR T F R A s FA 2 A
AT w7 i |

27.  Prove that the ratio of the areas of two similar triangles is equal to the

square of the ratio of their corresponding sides.
Using the above, prove the following :

If the arcas of two similar triangles are equal, then prove that the triangles

are congruent.
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28.

29,

I T WA R efafaa fig fifm -
7f2 2 v Byt 01 Qe T 8 4t R i B 3 s watrem 89 #)

From the top of a 7 m high butlding, the angle of elevation of the top of a
tower s 00° and the angle of depression of the foot of the tower is 30°. Find

the height of the tower.

T 7 et I waq & PR ¥ ua dHR & W 1 IT99 S0 60° d1 HHR
T oh1 375 10 30° & | HiAR 1 F=m 3ra s )

A milk container is made of metal sheet in the shape of frustum of a cone

whose volume is 10459% cm®. The radii of its lower and upper circular

ends are 8 ¢cm and 20 c¢m respectively. Find the cost of metal sheet used in

‘making the container at the rate of Rs. 1.40 per square centimeter.

22
[Use = T}

Or

A toy is in the form of a hemisphere surmounted by a right circular cone of

the same base radius as that of the hemisphere. If the radius of base of i..z

~cone is 21 c¢m and its volume is 2 of the volume of the hemisphere,

3

 calculate the height of the cone and the surface area of the toy .

30/1/1

22 |
[Use m —T]
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8 el qort 20 ¥t & | T S 1 FAW A A A1 7é g A FAR, 1.40F.
wifer =t o} i X E i FIwy

[n:%%mmﬁnﬁﬁﬂ]

e
% Raeimn Wﬂémwmﬁﬁwaﬁ AT TF  FR HT R |
afa e % Mo A1 B 21 ot o S S A 3 S A S B
Wi, i HaTs auT Raei =1 g srsa s Fif|

-]

Find the mean, mode and median of the following frequency distribution:

Class : 0-10 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70

.| Frequency : 4 4 7 10 12 8 5

ﬁ'ﬁﬁammmmw,mammmﬁmaﬁﬁm

=1 - 0-10 10-20 | 20-30 | 30-40 | 40-50.| 50-60 | 60-70

ELCiGHE 4 4 7 10 12 s | s
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